
Model No.

TY-ST32PE2

DPQX1051ZA/X1

取扱説明書 据置きスタンド 業務用

Operating instructions Pedestal For business use

このたびは、パナソニック製品をお買い上げいただき、まことにありがとうございます。
• 取扱説明書をよくお読みのうえ、正しく安全に組み立てしてください。特に ｢安全上のご注意｣（2 ～ 3 ページ）は、
組み立て前に必ずお読みください。

• 機器本体の取扱説明書とともに大切に保管してください。
• 取扱説明書に記載されていない方法や、指定の部品を使用しない方法で組み立てされたことにより事故や損害が生じ
たときには、当社では責任を負えません。

安全上のご注意（必ずお守りください） .......................... 2
構成部品 .............................................................................. 4
組み立て手順 ...................................................................... 4
外形寸法図 ..................................................................裏表紙
廃棄について ..............................................................裏表紙

Thank you for purchasing this Panasonic product.
• Read the Operating Instructions carefully so that the product can be properly and safely assembled. Make sure to read

“Safety precautions” in particular before assembling the product.
• Keep the Operating Instructions in a safe place, together with the operating instructions for the display.
• We shall have no liability for any accidents or damage incurred by assembling the product in any manner other than as

provided in the Operating Instructions, or without using parts specified.

Safety precautions ...........................................................8
Components ....................................................................9
Assembly Procedure .......................................................9
External dimensions drawing...........................Back cover
Disposal ...........................................................Back cover

TP0422TS0 -PB DPQX1625ZA/X1







4

日
本

語

転倒防止用部品

 転倒防止用ベルト ..................................................................................（2 本）

 ねじ .........................................................................................................（2 本）  （M4 × 16）

 木ねじ .....................................................................................................（2 本）  （呼び径 4 mm）

■ イラストはイメージイラストであり、実際の商品と形状が異なる場合があります。
■ 製品の仕様は予告なく変更する場合があります。

● 小物部品については乳幼児の手の届かないところに適切に保管してください。
● ねじ類の締めつけトルクは、組み立て手順に記載のトルクで管理してください。
● ねじ類の締めつけの際は、トルクドライバーやトルクレンチなどを使用し、電動ドライバー、インパクトドライ

バーを使用しないでください。

  スタンドベース（1 個）  本体取り付け用ねじ（4 本）

（M4 × 12）

  スタンド（各 1 個）  スタンド取り付け用ねじ（4 本）

（L）  （R）  
（M4 × 16）

構成部品 部品の確認と員数の確認を行ってください。

お願い
 ●包装材料は製品を取り出したあと、適切に処理してください。

組み立て手順
取扱説明書に記載されていない方法や、指定の部品を使用しない方法で組み立てされたことにより事故や損害が生
じたときには、当社では責任を負えません。

1. ディスプレイ本体の準備

やわらかい布などを敷き、ディスプレイの画面が下側
になるようにディスプレイ本体を置いてください。
 ● 引きずったりしてディスプレイ画面を傷つけないように
十分ご注意ください。
 ● ディスプレイ本体を伏せて置く時、また持ち上げる時、
絶対に液晶表示部を支持したり力を加えないでください。
液晶表示部が破損する可能性があります。

やわらかい布



日
本

語

組み立て手順（つづき）

2. スタンドベースの取り付け

1)  スタンドベース  をディスプレイ背面のねじ穴に合わ
せて置く。

2)  本体取り付け用ねじ （4 本）でしっかり固定する。
 締め付けトルクは、1.2 ～ 1.5N・m を目安として
締め付けてください。

お願い
 スタンドベースの取り付けは、必ず指定された穴位置を
使用してください。
 ディスプレイの底面とスタンドベースの隙間がないよう
に取り付けてください。

 スタンドベース

 本体取り付け用ねじ

3. スタンドの取り付け

1)  スタンド  をスタンドベース  のねじ穴に合わせる。
 スタンドには左右があります。
スタンドの刻印で確認をしてください。
 落下させないよう十分注意してください。

L

R

 スタンド（R）  スタンド（L）

 スタンド取り付け用ねじ

 スタンドベース

2)  スタンド取り付け用ねじ （4 本）でスタンド  をしっ
かり固定する。

 締め付けトルクは、1.2 ～ 1.5N・m を目安として
締め付けてください。

3)  ディスプレイ本体を立てる。





7

日
本

語

〒571-8503　大阪府門真市松葉町２番１５号
© Panasonic Connect Co., Ltd. 2022

ご使用の回線(IP 電話やひかり電話など)によっては、回線の混雑時に数分で切れる場合があります。

使いかた・お手入れ・修理などは、まず、お買い求め先へご相談ください。

ホームページからのお問い合わせは　
https://panasonic.biz/cns/prodisplays/supportcenter/

その他ご不明な点は下記へご相談ください。

パナソニック 業務用ディスプレイサポートセンター
営業時間：月～金（祝日と弊社休業日を除く）
9:00～17:30（12:00～13:00は受付のみ）

ご相談窓口におけるお客様の個人情報のお取り扱いについて
パナソニック コネクト株式会社およびグループ関係会社は、お客様の個人情報をご相談対応や修理
対応などに利用させていただき、ご相談内容は録音させていただきます。また、折り返し電話をさ
せていただくときのために発信番号を通知いただいております。なお、個人情報を適切に管理し、
修理業務等を委託する場合や正当な理由がある場合を除き、第三者に開示・提供いたしません。個
人情報に関するお問い合わせは、ご相談いただきました窓口にご連絡ください。

パナソニック コネクト株式会社





9

En
gl

is
h

Assembly Procedure
We shall have no liability for any accidents or damage incurred by assembling the product in any manner other than 
as provided in the Operating Instructions, or without using parts specified.

1. Preparing the display

Installation must be carried out by at least two 
people.

Spreading out a soft cloth, etc., place the display 
with the screen facing down.

 ● Be careful not to damage the display screen, for 
example, by dragging it.
 ● When placing the display with the screen facing down, 
or lifting it up, never hold or put pressure on the LCD 
screen. The LCD screen may be damaged.

Protective sheet

Components Check that all the parts are accounted for and present in 
their designated quantities.

Note

Properly dispose of the package after unpacking the product.

Overturn-prevention parts

 Overturn-prevention belt (2)

 Screw (2)
 (M4 × 16)

 Wood screw (2)  (Nominal diameter 4 mm)

 ■ The images shown in this manual are for illustrative purpose only.
 ■ Specifications of the product are subject to change without notice.

 ● Safely store small parts to keep them out of the reach of infants and young children.
 ● Manage screw tightening torques according to the torques specified in the assembly procedure.
 ● In tightening screws, use such a tool as a torque screwdriver or torque wrench. Do not use an electric screwdriver 
and impact screwdriver.

 Stand base (1)  Display installation screw (4)

(M4 × 12)

 Stand leg (2)  Stand leg mounting screw (4)

(L)  (R)  
(M4 × 16)



Assembly Procedure (Cont’d)

2. Attaching the stand base

1)  Place the stand base , aligning the screw holes 
with those on the rear panel of the display.

2)  Fix it firmly with the 4 display installation screws .

Note

3. Attaching the stand leg

1)  Align the holes of the stand legs  with those of the 
stand base .

L

R

2)  Fix the stand legs firmly with the 4 stand leg 
mounting screws .

3)  To stand the display vertically.

When attaching the stand base, make sure that there is 
no gap between the bottom surface of the display and 
the stand base.





外形寸法図

399.6 (15.7)

96
.5

 (3
.8

)
16

1 
(6

)

57
 (2

.2
)

52
.8

 (2
.1

)

508 (20)

)5( 3.721)3( 67

178 (7)

110 (4.3)
139.6 (5.5)
199.6 (7.9)

単位：

質量：1.1 kg

■  廃棄について
製品を廃棄する場合には、最寄りの市町村窓口、または販売店で正しい廃棄方法をお問い合わせください。

4-1-62 Minoshima, Hakata-ku, Fukuoka 812-8531, Japan
Web Site: https://panasonic.net/cns/prodisplays/
© Panasonic Connect Co., Ltd. 2022

Panasonic Connect Co., Ltd.




